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Sticky Note

The candidate earns the first mark but the remainder of the solution is incorrect.
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Sticky Note

Three incorrect interpretations of the fact that the tangent is parallel to the y-axis.
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Sticky Note

A perfectly correct method of solution based on the equation of C rather than dy . 
               dx
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2. The curve C has equation

x4+ 3x2p = 2y2 = 34.

dy _ 4x*+6xy
(& Show that dr = W [3]

{b)  Find the coordinates of each of the points on C where the tangent is parallel to
the y-axis. 4]
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Callout

The candidate has been able to derive the correct quadratic but then solves it incorrectly. 
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Sticky Note

The first mark has been earned but nothing else. 
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Text Box

Two totally incorrect methods of solution. 
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(b)

tan X + tan 45° = 8tanx

1 —tanxtan 45° (correct use of formula for tan (x + 45°)) M1
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Sticky Note

Marked set by willir










(& Find all values of x in the range 0° < x < 180° satisfying
tan(x + 45°) = §tan x.

(b)) () Express f13sin0—6cosO inthe form Rsin(8 — o),

where R and o are constants with X >0 and 0° < o < 90°.

(iiy  Find all values of 8 in the range 0° < 8 < 360° satisfying

J13sin@—6cosh = —4.
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Sticky Note

The candidate has put a rather than x in the integrand and then `integrated' it incorrectly anyway. 



Sticky Note

The candidate has tried to integrate again with limits a and b rather than substituting in the answer to part (a) 
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Sticky Note

The first mark has been earned but the integration and substitution of limits is totally incorrect.
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Sticky Note

A correct solution until the final mark.
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(1) Substituting b for s in candidate’s derived expression for J7
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(i1) This is the volume of a cone of (vertical) height @ and (base)
radius b El










,M: —— - ) I
J
i T B - -
- B B mm— -
7777%‘[i :4&__@&&)_ -
Y. ¢ -
F N - B ]
Ll Nz T Kn?; Sﬁ
ol ey -
E SO " v S
bW v= W gcm e’ )"
D 5&
VeTw [0 mw ]

\=2

A vdime of o

Spf\.@f\ﬁ

wha(h

a fadus  cof

Qlb.











. (][] Y= ma m >0
5 a__ _
©) =17 )Ctj‘ dat = AT S(mﬂl dx
o . | .
= T (w2a? du - T rp_nﬁ x 3}
ha J ol 3 1o
= T iw® s — @
=) 3
= TV X @r’m%a% B
% | 9 3
= [ a3 Bm?|
I J
= T [m®(a®-3) ]
I
D) )%/ Ve om [ xp3 ] [ kaaa\
3 3| |z 3|
- - ﬂ—"—*m'éb?) _ .mgﬂ%ﬁ
% B a 9
i ShC&PQ 15 0 Sphore = 3T msb%_m’sa3’"
hith radivs 4. L q _ ,
= G\S(bgva%)
q











Leave

Question
number Sl
Rhif y Gadewch
Cwestiwn yn wag
H ‘ 7 =
W L W e Pt M. >cy - ./ |
J A
(L At ow .

LS 60 Sphonas -











4. The line L has equation y = mx, where m > 0. The region R is bounded by L, the x-axis and the
line x = g, where a> 0.

{a) Using integration, find an expression, in terms of g and m, for the volume V generated
when R is rotated through four right angles about the x-axis. [3]

(b} The point with coordinates (g, /) lies on L.
(i Rewrite the expression for the volume V found in part (a) in terms of ¢ and .

(iiy Give a geometrical interpretation of your answer. [3]











